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FR | 50m 8| 8 |/h3 | MKX R 36.72 37.10
11 121 11 |/hv5 | BB EF 30.83 30.90 o
10om |9 ~ 10| 10 |ma | mM AR [ 10203 | 1136 | 7|
11 12| 12 |1 | %EE &x | 1:.0649 | 1:06.23
1" |/h5 | EZ EF | 1:.07.49 o
200m [11 ~ 12| 2 [di | s mm [ 22400 | 22186 | 3 |
BA | 50m 8 8 /3 AR RIE 42.48 4143
13 14| 13 |2 | #935 BX 31.92 31.48 o
Toom |16 ~ 14| 18 |%2 | ms mx | 10828 | 10740 | 1|
200m 13 ~ 14| w2 | wp mx [ 23508 | 0 | |
FLY | 50m 8| 8 |/h3 | AR JTE 39.31 3867 | 1|
Soom |13 ~ 14| w4 |2 | win me | 10845 | oss0 |6 |
200m [18 ~ 14| 14 |2 | @i maE | 2:34.99 | 2:20.76 |
IM | 200m | 9 10| 10 |/h4 | @& AJ5 | 2:53.50
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FR | 50m ~ 8| 8 |/h2 | ER HW— 39.59
9 ~ 10| 9 |4 | I EW 33.78
BA| 50m |9 ~ 10| 9 |[/N4 | Ik B 36.53 37.59 6
qoom |9 ~ 10| o |ma | T mm | 12149 | 122090 | 4
"M ~ 12111 |/h5 | &EAK &A] 1:17.01 1:1735 | 4
15 ~ 19 | K2 hilg B 1:01.55 1:01.41 2
19 | K2 T KiE 1:01.25 1:02.40 3
200m [15 ~ 19 |x2 | e mE | 21235 | 21094 | 1
BR | 50m ~ 81 8 |/h2 | BR BHW— 46.32 45.00 1
15 ~ 19 /N5 | BiF Fh 42.94
toom (18 ~ 14| 13 |2 | sk mx | 11553 | tasss | 5 [
200m |18 ~ 14| 13 [dm2 | sk mk [ 25000 | 24747 | 3|
FLY| 50m |13 ~ 14| 13 |1 " FEIE 29.73
doom |11~ 12| 12 [@m | wex # | o904 | 10939 | 3|
11 | /6 HEA g 1:12.20 1:12.06 5
IM | 200m ~ 8| 8 |/Mh2 | BER #— | 31519 | 31424 | 5
11~ 12|12 | &1 EX = 2:34.89 | 2:2995 | 4




